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Question No. 1
S Sge TOTA T ST CNA I G Wy A J6AT A AN T3-

A) THT GIPICTE ST B) @3 Pfe =GR
C)IT SFH AT D)IFeld @Cud T

A ray of light passing through principal focus of a convex lens after refraction will emerge-

A)Through the principal focus B)Without any deviation
C)Parallel to the principal axis D)Through the centre of curvature
Answer Key : C Your Response : C (Correct)

Question No. 2

ofrm o b f6 sméix AT TSP FA

A) B B)®RY

C) AT D) fee

Odisha shares its border with Indian states.

A)Four B)Six

C)Five D)Three

Answer Key : A Your Response : Not Answered

Question No. 3
R @ oA T IS
A) =6 B) oI
C) WAl D)%%

With which sport is the term 'Beamer' associated?

A)Cricket B)Football
C)Chess D)Hockey
Answer Key : A Your Response : Not Answered

Question No. 4
WM I QAT TSP TIA?
A) SRR 2000 B) 9SG 2001
C)SMBRE 2002 D) ferEa 2000

When was 'Antyodaya Anna Yojana' launched?

A)October 2000 B)August 2001
C)October 2002 D)December 2000
Answer Key : D Your Response : Not Answered

Question No. 5
fm eW W JET FEAE T qfAfte?
A) @RS @RS B) g @forey Top
C) e RREea D) @IS SBiferey
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Which great personality of the world was also known as 'Fuehrer'?

A)Napoleon Bonaparte B)Vladimir Lenin
C)Adolf Hitler D)Joseph Stalin
Answer Key : C Your Response : Not Answered

Question No. 6
@FFS A SARCEH THICHR TA-
A) H@SPS JEH TAETCS B) IBI NI AT
C) q@SPe I TR D)®F SE WA

The rate of change of momentum of an object is-
A)Directly proportional to the resultant force applied  B)Equal to displacement of the object
C)lInversely proportional to the resultant force applied D)Equal to its mass

Answer Key : A Your Response : A (Correct)

Question No. 7
CBl 37 TIEAT IS @7
A) JETF FA B) A@N 3]

C)NaT JF D)3 T

Who is the present CBI Director?

A)Alok Verma B)Rakesh Asthana
C)Sanjay Mathur D)Rishi Kumar Shukla
Answer Key : D Your Response : D (Correct)

Question No. 8
2019 SR, @™ (7T SFG M@ SRRA I~Aa a0 Ml 136 7w Y SeRd FEw?
A) QoI B) @Il
C) TfFI D) SIsfergrey

In 2019, which country launched a new export route to India through the Chabahar Port?

A)Bhutan B)Nepal
C)Pakistan D)Afghanistan
Answer Key : D Your Response : A (Wrong)

Question No. 9
fmPiRs ew emT o7 T 37
A) T B) 5%
C) oI D)EE @S

With which of the following sports is Black Pearl associated?

A)Snooker B)Golf
C)Soccer D)Horse Racing
Answer Key : C Your Response : Not Answered

Question No. 10
eweRE 93fe W, I 236 fgferrs arm anw, orF F M =?

A) §IFG B) T2 s Top
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C) ST D) TSI

A group of stars, which has a recognisable shape is called as-

A)Comet B)Constellation
C)Meteorite D)Meteoroid
Answer Key : B Your Response : B (Correct)

Question No. 11
I 53 TRT STE AC @EEA SHRF 7F 10 V I OF 57 RMS 7F T3-
A)3.142 V B)1.732 V
C)1.414 V D)7.070 V

If the maximum value of a sine wave AC voltage is 10 V, then its RMS value is-

A)3.142 V B)1.732 V
C)1.414 V D)7.070 V
Answer Key : D Your Response : D (Correct)

uestion No. 12

FIBER IWRS IR I AT T FPPART WEARS 767 I b RAfFTm 23 Swmen

A) sffre R ax srmRt [fFm Semk B) wffre R

c)erend fafFm (awrfe fafwa) D) ormE A (ammnfe fafwa)

Calcium oxide and water combine to form calcium hydroxide. This is an example of reaction.
A)Both combination reaction and exothermic reaction B)Combination reaction

C)Endothermic reaction D)Exothermic reaction

Answer Key : A Your Response : A (Correct)

Question No. 13
IcC ARA T20 AT 2020 A7 AAHT @F (17

INICIEC) B ) RSETHS
C) 8L 23S D) ST T

Which country is the host of ICC Women's T20 World Cup 2020?

A)India B)England
C)West Indies D)Australia
Answer Key : D Your Response : D (Correct)

Question No. 14
W G SRAT 4 T¥ AR A6 RYT 24 W, o7 AT 5 TI-

A)6 AG B)4 WG
C)12 6 D)8 3G

If the number of poles is 4 and number of slots is 24, then the pole pitch will be-

A)6 slots B)4 slots
C)12 slots D)8 slots
Answer Key : A Your Response : A (Correct)
Question No. 15 Top

e @@t 5 TSt F/E?
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A) aFf6 FEF G &FT B) WISE FAGIHOT
C) %o OEl IFE TARES FAT D) FEW @]

Which of the following is difficult without friction?

A)Holding a glass tumbler B)The movement of the door
C)Moving a heavy box from one place to another D)Playing carrom
Answer Key : A Your Response : C (Wrong)

Question No. 16

B BT _____-97 Ty PN AN ReRe FAT 3
A) ST HoORR IEG 9T @BS FES B) Yfaw Hofi FEG 9T @HBS FIEH
C) AT Bk FI@G 9] @AGC @IS D) Vs fHofi IMEG 9T @HBS ©EHS

Fusing factor is defined as the ratio between the-

A)Maximum fusing current and rated current B)Minimum fusing current and rated current
C)Maximum fusing current and rated voltage D)Minimum fusing current and rated voltage
Answer Key : B Your Response : A (Wrong)

Question No. 17
@ Srred gAare RAEd a3 jAfe wiew Iy RS e Tae?
A)GTRE &1 S B) fase Fara TS
C) Fardt vw @ D)N& F&ZF W

Who has been appointed as the Chairman of India’s Lokpal or anti-corruption ombudsman?

A)Mehr Chand Mahajan B)Bijan Kumar Mukherjee
C)Pinaki Chandra Ghose D)Sudhi Ranjan Das
Answer Key : C Your Response : C (Correct)

Question No. 18
373° ¢ @ @FET @O TIRAS F7
A) 746 K B) 646 K
C)546 K D)846 K

Convert 373° C into Kelvin scale.

A)746 K B)646 K
C)546 K D)846 K
Answer Key : B Your Response : B (Correct)

Question No. 19

93 IS ITFR FET ABAT I fIE
A) SRATE B) &6H
C) s D) @fed TRENT

A coil carrying current behaves as a/an-

A)Dynamo B)Motor
C)Magnet D)Electric dipole
Answer Key : C Your Response : D (Wrong)

Top
Question No. 20
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T TMEF kAT Ifed STRY-
A) HTeF ST 2 TF B) &Teq o Jfw TF
c)amEfas fafrmer Jfa ¥ D) AmAfas fafmzer 29 MF

With the increase in atomic number in period-

A)Metallic character decreases B)Metallic character increases
C)Chemical reactivity increases D)Chemical reactivity decreases
Answer Key : A Your Response : A (Correct)

uestion No. 21

fimfbs ffdR® ______ ffa wan afeny 33 @t e

A) CTiR B) & w3t

C) 326Co™ D) SITSTAS

Relative permittivity can be measured by bridge.

A)Schering B)De Sauty

C)Wheatstone D)Anderson

Answer Key : A Your Response : A (Correct)

Question No. 22
@3 ST 232 ©F SRYT Y(F ONF I -
A) STRCTIG B) SRR
C ) SIRCIGT D) SIRCIE

Nuclides which have same mass number are called-

A)lsotones B)Isobars
C)lIsotopes D)lsomers
Answer Key : B Your Response : B (Correct)

Question No. 23
®PFRBE TITFIET Neferer i AferT I
A) STTSTES B B) e § &% oy
C) e e D)RMS I

A voltmeter using thermocouple measures-

A)Average value B)Peak to peak value
C)Peak value D)RMS value
Answer Key : D Your Response : B (Wrong)

Question No. 24
e @@t e sam s e aWBtE IITF FaT W7

A) @Y B) @pfes 1R
C)@Apfes e D)fRea =mF

To measure which of the following is an ammeter used?
A)Resistance B)Electric current
C)Electric charge D)Potential difference Top

Answer Key : B Your Response : B (Correct)
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Question No. 25
e 93t fnfs o Bl T 7|, o & T =
A)©R5 SIfeEs B) 55
C ) SIS D) (IeTey

The brain interprets the frequency of an emitted sound called-

A)Wave velocity B)Pitch
C)Wavelength D)Oscillation
Answer Key : B Your Response : B (Correct)

Question No. 26
IR 2017 (© Tof® W ARG ANRE AR 2
A) (fersy B) GG
C) freT D) CTf%eT

What is the name of world's first robot citizen created in October 2017?

A)Dennis B)Stella
C)Michael D)Sophia
Answer Key : D Your Response : D (Correct)

Question No. 27

FR A e @@ (CTS @@ «ie sfafce)
A)V.I.R @&9 B)P.V.C RERT
C)X.L.P.E @&« D)T.R.S @&

The Cab Tyre Sheathed Cable (C.T.S cable) is also known as-

A)V.I.R cable B)P.V.C cable
C)X.L.P.E cable D)T.R.S cable
Answer Key : D Your Response : D (Correct)

Question No. 28

S F7 FEHT ____ TORIA FENT eS|

A) GEFIT B) ANRfF

C) et D)®re

The fuse operates due to the effect of current.

A)Magnetic B)Chemical

C)Electrostatic D)Heating

Answer Key : D Your Response : D (Correct)

Question No. 29

a3t svm MRFG o 2 ST Ao eRF e I =)

A) BT @TeGs B) EMF

C) M3TF D) &N

The difference of potential between the two terminals of a cell in an open circuit is called the of a
cell.

Top
A)Terminal voltage B)EMF
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C)Power D)Charge

Answer Key : B Your Response : B (Correct)

Question No. 30
FoPfRe @@ ™ o TEFdF 3T @H?
A) 583 =16 B) (TSI oo I1fe
C)GLs dfe D)*aw T Fife

Which of the following lamps give(s) nearly monochromatic light?

A)Tube light B)Sodium vapour lamp
C)GLS lamp D)Mercury vapour lamp
Answer Key : B Your Response : B (Correct)

uestion No. 31

TR T meT AT SW W WA
A) Rres 39T Tel B) e e se[
C)a3fb ST T AT AFARG D) I IEAFES

Light is produced in electric discharge lamps by-

A)Magnetic effect of current B)Heating effect of current
C)lonisation in a gas or vapour D)Carbon electrodes
Answer Key : C Your Response : C (Correct)

Question No. 32
535 FifAe FOEm FrifR <t 46 300UH FETE THEF 2SRFGS-
A) 150 MH B) 600 MH
C)300 MH D)75 MH

Two 300 pH coils in series without mutual coupling have a total inductance of-

A)150 uH B)600 pH
C)300 uH D)75 pH
Answer Key : B Your Response : B (Correct)

Question No. 33
fmfiite @@t i¥dGs iy ffw /yF 93 FmT feers?
A) ST T B) @
c)fifer @ D) &S

Which of the following is a safety device connected in series to the circuit?

A)Wall bracket B)Reflectors
C)Ceiling rose D)Fuse
Answer Key : D Your Response : D (Correct)

Question No. 34
I 96 5 JUF AT SHIRAFMSIT RYF YT @ G6 FEHGS T@-
A)25 MF B)10 MF
C)15 MF D) 125 Mf

Top
If three 5 YF capacitors are connected in parallel, then the net capacitance is-
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A)25 uF B)10 uF
C)15 uF D)125 pf
Answer Key : C Your Response : C (Correct)

Question No. 35
IR @ IMOW BT e SIS T8
A) STRf%R B) @
C)&¥ D) S T

Which part of the transformer is subjected to maximum heating?

A)Winding B)Core
C)Frame D)Oil
Answer Key : A Your Response : B (Wrong)

Question No. 36
@ B8a _____ e Fa© I9%e W
A) EFETRNR B)M6H 8 F™HyE ToF
C)@eT D) (IRFsFea fSerRy

Delay fuses are used for the protection of-

A)Transformers B)Both motors and transformers
C)Motors D)Semiconductor devices
Answer Key : B Your Response : C (Wrong)

uestion No. 37

mere S TNRIS 3P TR SIPW I @I
A) 0.8 ST B) 0.5 N
C) %% D)0.5 fafss

Filament lamps operate normally at a power factor of-

A)0.8 lagging B)0.5 lagging
C)Unity D)0.5 leading
Answer Key : C Your Response : C (Correct)

Question No. 38
foe @w e Ipm oy S aue IE?
A)H A IRt B)H A I12R/t
C)H O I2Rt D)H O IR2t

Which of the following expressions gives the Joule's law of heating?

A)H a IRt B)H a I?R/t
C)H a I°Rt D)H a IR%
Answer Key : C Your Response : C (Correct)

Question No. 39
RFéwa AT A, [T 23 e TRRE FIRACET QAT TN-
A) T[T SETCTA (©ICoEE WA(E B) (R ™ =G MSA FNECE AR

C)MqE ©ICLER WY D)IVAT FET NG SN Top
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According to Kirchoff's law, the sum of the currents entering a point in the circuit is equal to the-

A)Sum of the voltages around the loop B)Sum of the currents leaving that point
C)Sum of applied voltages D)Sum of the impedances in the circuit
Answer Key : B Your Response : B (Correct)

Question No. 40
IF ©FE NIF OMC TR 3 kW IR OF HAF 5T 1.5 kWi OROT PR s SeT -
A) 0.5 B)0.25
C)0.33 D)1.33

The connected load of a consumer is 3 kW and his maximum demand is 1.5 kW. The demand factor of the

consumer is-

A)0.5 B)0.25

C)0.33 D)1.33

Answer Key : A Your Response : A (Correct)

Question No. 41
930 TIWRTE @AY AT WS AT IE ORFT RV 23 MPASF FBT AT AW FAT T2
A) A= B) fAGFEMeG
C) Ni¥IFE D) @TEffeft

The property of a material that describes the ease with which a magnetic flux is established in the component

18-

A)Reluctance B)Retentivity

C)Permeability D)Coercivity

Answer Key : C Your Response : C (Correct)
Question No. 42

53 ovi ReASTE ___ IRIeR 3 SRS )

A)Sifs fam @ B)9fe O @&

C) M3TT TRE MMES3 T6 D)DC @b 8©F (S

A megger is exclusively designed for measuring-

A)Very low resistance B)Very high resistance
C)Ground faults in power lines D)Over load on DC motors
Answer Key : B Your Response : B (Correct)

Question No. 43
e et 3t ImERts Ffor-eo forrT eba?
A) fATes Enoa B) fRe®s @ea
C)AC fifFe @mea D) ZSfereiier @ba

Which of the following is an unexcited single-phase synchronous motor?

A)Repulsion motor B)Reluctance motor
C)AC series motor D)Universal motor
Answer Key : B Your Response : B (Correct)

Question No. 44

Top
535 DC @, FYE6A FERRE @R FF T FE?
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A)BIft: FES THIAR AT 5F B)DC Q® AC FTRA
C)AC @@ DC 332 DC @Q® AC To@R FIRA D)AC ®TF DC (@ JT&S

In a DC machine, commutator perform(s) which of the following functions?

A)Supply starting current or torque B)Converting DC into AC
C)Both conversion of AC into DC and vice versa D)Converting AC into DC
Answer Key : C Your Response : C (Correct)

Question No. 45
fmPiRe @@t vl sxfk-a7 oy T TWf?
A) @R eI B)CTS &:fH:
C)TRS 3T D)f#6 s8R

Which of the following is the best method for temporary wiring?

A)Casing wiring B)CTS wiring
C)TRS wiring D)Cleat wiring
Answer Key : D Your Response : D (Correct)

Question No. 46
fmfifte IANfofm ww @EEbe farRE o aIft s @37
A) STFAW = B) @&oNE6T
C)XEHEd T D) 8R @I

Which of the following appliances does/do NOT require earth connection for safety?

A)Vacuum cleaner B)Refrigerator
C)Electric cooker D)Washing machine
Answer Key : A Your Response : A (Correct)

Question No. 47
535 VA FEMEC &F ©bE, & &3 NRFE 200 v, MRT GPLH T3-
A)230 V B)220 V
C)346.4 V D)173.2 V

The phase voltage of a star-connected, three-phase circuit is 200 V. The line voltage will be-

A)230 V B)220 V
C)346.4 V D)173.2V
Answer Key : C Your Response : C (Correct)

Question No. 48

T RO @A 36T FAT Sfte?
A)F STF B)am ST
C)fISE s F D) RE SWF

All switches should be installed on the-

A)Blue wire B)Earth wire
C)Neutral wire D)Live wire
Answer Key : D Your Response : D (Correct)

Top
Question No. 49
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TEEA 87 TRS @FICHIfT Fowa Iy SS?
A)TEH BIEGS B) IE] TR @GS
C)feE @EIrte D) W& (SIEHS

TRS cables on batten are suitable for-

A)High voltage B)Ultra high voltage
C)Low voltage D)Medium voltage
Answer Key : C Your Response : C (Correct)

Question No. 50

e sTRRREN, A-GS FHRATHE J[ROTS GF6a I 9> STRFRRTT GTEER W BRY && =
A)120° WNTE A% &S B)3 @&

C)180° SIISE % &S D)150° SISH % @S

The voltage induced in the three-phase altemator of each winding is with the voltages in the other two
windings.

A)120° out of phase B)In phase

C)180° out of phase D)150° out of phase

Answer Key : A Your Response : A (Correct)

Question No. 51
DC GIfA, TN (BT 3 T4 APIO =I-

A) PBIfF 2 @1 B) (TGS (751
C)FF&T D) fage=E

In DC machine, shape of main field flux distribution is-

A)Peaky in nature B)Saddle shape
C)Trapezoidal D)Triangular
Answer Key : C Your Response : D (Wrong)

Question No. 52
n-channel JFET 37 JTHYE FIES ST P ©IFba I™HA @FARITA ATHIH e 7 @ SN VRFE-

A) @S Fo-I1% A6 ©T6S @R B) [ 36 @60 IR [ [RpQaaR
C)@TTE @CIoe 26 Fo-9% @0 JAowd FACER D)@ITE e 3P QTR @bs Aemd FACIR

The output current verses input voltage transfer characteristics of an n-channel JFET is such that there is-

A)No cut-off input voltage B)Zero current flow at zero input voltage bias

C)Current flow only when negative input cut-off D)Current flow only when a positive input threshold
voltage bias is crossed voltage is crossed

Answer Key : C Your Response : Not Answered

Question No. 53

afeda 7
A) aFfe @THEF B) a3 SeI&@6F
C)a3fe *f5foe Foaneyr anmiEmEE D) a3 @ufce FoaneTr HEwEE

Top
What is an oscillator?
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A)A rectifier B)A generator
C)An amplifier with positive feedback D)An amplifier with negative feedback
Answer Key : C Your Response : C (Correct)

Question No. 54
U@ ____ oS AT IS {-SAOR0E TR T3S

A) SIRSPRRI B) @3 FMNTS

C) D) 3 SRR ToF

Two wattmeter method is used to measure three-phase _____ load.

A)Unbalanced B)Only capacitive

C)Balanced D)Both balanced and unbalanced
Answer Key : D Your Response : A (Wrong)

Question No. 55

MAC 9SS JW-
A)42 35 B)36 fI6
c)48 a6 D)24 fat

MAC address is of:

A)42 bits B)36 bits
C)48 bits D)24 bits
Answer Key : C Your Response : Not Answered

Question No. 56
36 oS b N7 I I WS THF I J-
A) STEIFIT B) SHAGSS
C)FT® D) B

The distance between one wave crest to the next or from trough is called-

A)Time period B)Amplitude
C)Frequency D)Wavelength
Answer Key : D Your Response : D (Correct)

Question No. 57
@M TR @R SIS, MPRRE IR AT SSER SHEA?
A) @S FTT TIATS B) @9d TTATS
C) IR SIS D) BT TIARS

Which special type of diode is capable of both amplification and oscillation?

A)Point contact diode B)Zener diode
C)Junction diode D)Tunnel diode
Answer Key : D Your Response : D (Correct)

Question No. 58
MEEADS F TIRT I39-
A) TS/ B B) SWifsraE/ o

C) 3/ D) Gl T
op
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The unit of magnetic flux density is-

A)Farad/metre B)Ampere/metre
C)Ohm/metre D)Tesla
Answer Key : D Your Response : D (Correct)

Question No. 59
MS-Excel-1 @3 G3b I 5T e fmfiRe e 33se =7

A)Ctrl + A B)Ctrl + X
C)Alt + C D)Ctrl + C

Which of the following is used to cut any text or field in MS-Excel?

A)Ctrl + A B)Ctrl + X
C)Alt + C D)Ctrl + C
Answer Key : B Your Response : B (Correct)

Question No. 60
@Fs oA e Fb TRl @RE-
A) =66 7 fAfta 2 eefe Fafde B) b ¥y fowa a4 ¥eE FRE =61 =6
C)IET FATE TG D) I@F TS

The static error band of an instrument implies the-

A)Error introduced in low varying inputs B)Difference between the measured value and the true
value of the quantity

C)lrrepeatability of the instrument D)Accuracy of the instrument

Answer Key : B Your Response : D (Wrong)

Question No. 61

TeRA I RTINS J3%e W TM 97 NEeE|

A) BTTFH B) @RHEE

C) S AFFA D) TR TSR

The instrument usually used as a transfer instrument is type.

A)Induction B)Rectifier

C)Moving iron D)Electrodynamo

Answer Key : D Your Response : B (Wrong)

uestion No. 62

Trh-aeEe §l I srenfie =7
A) 1941 B) 1930
C) 1940 D) 1931

When was the Gandhi-Irwin pact carried out?

A)1941 B)1930
C)1940 D)1931
Answer Key : D Your Response : A (Wrong)

Question No. 63
_m«mmawmmmmmmawmmﬁ:&
RS T© e


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A) ISR SSRGS B) PISRIT RS1FH
C)Frfte fRemaGs D)% 331G

is/are the term(s) given to the phenomenon where a change in current through one inductor causes
a voltage to be induced in another.

A)Mutual conductance B)Mutual inductance
C)Capacitive reactance D)Self inductance
Answer Key : B Your Response : A (Wrong)

Question No. 64
GO @5 SAMNEA BT @ YR P& TRIA F1 =?

A) G Be B)§ 8@ 36
C)&G 36 D) 8T S 36

Which type of switch is used in case of stair case wiring?

A)Limit switch B)Two way switch
C)Float switch D)One way switch
Answer Key : B Your Response : C (Wrong)

Question No. 65
oW PR 5 FERRE @F ¥avE oy I FAT WP
A) SEATFES B) SUTBING
C) SO HF D) SHIFBTMTF

Which of the following types of medicine is used for treating indigestion?

A)Analgesic B)Antacid
C)Antiseptic D)Antibiotic
Answer Key : B Your Response : B (Correct)

Question No. 66

frufiie @Wt RfSwET 1fFr 8V 737
A) fasFaE fe B) RRETNSTEF
C) IS D)TH @@ &

Which of the following is not a renewable source of energy?

A)Nuclear energy B)Hydropower
C)Biomass D)Energy from waste
Answer Key : A Your Response : A (Correct)

Question No. 67

E ST I ORT FH AFW?

A)61% B)51%
C)91% D)71%
The ocean covers percentage of Earth’s surface.
A)61% B)51%
C)91% D)71%

Top

Answer Key : D Your Response : D (Correct)
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Question No. 68

936 IR SFRREMTR e @Y-
A) T @08 TS IH B) fA=dle IR Af@ Jf& W
C) TR @R A7 BT IW MF D)ol fernftGa woi 3w ¥

The width of the depletion layer of a junction-

A)ls independent of applied voltage B)Increases under reverse bias
C)Decreases with light doping D)Increases with heavy deposit
Answer Key : B Your Response : B (Correct)

Question No. 69
TPTEFE B FRFAM (NGT) 97 o Sorife @& fRee?
A) faeefe @@ea i smr B) RerEsfe 4. as. ARy
C)farrefe I=FNS FHS D) fEEsfe a & smyfer

The first Chairperson of the National Green Tribunal(NGT) was-

A)Justice Lokeshwar Singh Panta B)Justice A.S. Naidu
C)Justice Markandey Katju D)Justice A K Ganguly
Answer Key : A Your Response : Not Answered

Question No. 70
AT IME @ T TR S T O T-
A) FRT TR-IHARS B) S
C) ARSTE D) MRETE

The gas usually filled in the electric bulb is-

A)Carbon dioxide B)Oxygen
C)Hydrogen D)Nitrogen
Answer Key : D Your Response : D (Correct)

Question No. 71
AN FHT TR IF G 12 SR SICIA W OF FHCW 1 TR ST SF FO7
A)1 x 1072 g B)3 x 10 g
c)2 x 100% g D)1.99 x 1072 g

If one mole of carbon atoms weighs 12 gram, what is the mass in gram of 1 atom of carbon?

A)1x 1028 g B)3x 1023 g
C)2x 102 g D)1.99 x 1023 g
Answer Key : D Your Response : Not Answered

Question No. 72

93 @ere 37 BSTe WL 93 ISHEW A YT T 936 RS ®R T [ B O
afSfFniien

A) faened B) FINGH

C)3Ted D) @oF

A resonant or tuned circuit combines an inductor and to make a circuit that is responsive torgp

frequency.
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A)Reactor B)Capacitor
C)Inductor D)Resistor
Answer Key : B Your Response : B (Correct)

Question No. 73
DC GIfET JTfoR "mfierem @ o/ ____|
A)1.0 mm - 1.5 mm B)O.1 mm - 0.3 mm
C)0.5 cm - 1 cm D)0.4 mm - 0.5 mm

The thickness of ammature lamination in a DC machine is about

A)1.0 mm - 1.5 mm B)0.1 mm - 0.3 mm
C)0.5cm-1cm D)0.4 mm - 0.5 mm
Answer Key : D Your Response : D (Correct)

Question No. 74
T @R o 91 @ 3T TAT SRS TAIAR P41 W 3% ST WeTE T 53R SameEe

afey wEns)
A) RS 35T B) ®f&6 ¢ 23T
C) - Zo[TTe D) @-3 BSErT

is where the protection is provided by single or basic insulation, but has the same protective
properties as double insulation.

A)Reinforced insulation B)Concrete block insulation
C)Loose-fill insulation D)Blown-in insulation
Answer Key : A Your Response : B (Wrong)

Question No. 75
Ve (GbT afF fESReT, OMR a7 PIPT § 7
A) ST TF fTFIREHT (Open Message Recognition ) B) ST WIS fAPARG™IA (Open Message Recognition )
C)AGFT NF fIFAREHT (Optical Mark Recognition) D) IfHFE WIS fAGIT (Optical Message Reader)

In source data entry devices, what is full form of OMR?

A)Open Mark Recognition B)Open Message Recognition
C)Optical Mark Recognition D)Optical Message Reader
Answer Key : C Your Response : C (Correct)

uestion No. 76

23 cba MG SSACPIC SR B0wH CToME ____ &F 7T I
A) ITT AFT 38T FIEG B) 6 f¥G
C)ITT UF| S8 (SIS D)3 s FIE6

The purpose of overload protection in a motor circuit is to protect the motor from-

A)Sustained over-currents B)Short circuits
C)Sustained over-voltage D)Earth leakage currents
Answer Key : A Your Response : A (Correct)

Question No. 77
MS-B, S @1 63 FAR B @ 1636 I JA FAT @@ ANA?
A) Ctrl+Home B) Shift + Space

Top
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C)Ctrl + Space

GET IT ON
Google Play

D)Ctrl + Shift + Space

In MS-Excel, what is the shortcut key you can press to Select the entire row?

A)Ctrl + Home
C)Ctrl + Space
Answer Key : B

B)Shift + Space
D)Ctrl + Shift + Space
Your Response : D (Wrong)

Question No. 78

TIRF SR 10 97 IXHET G 3
A) 1010
C)10

The binary equivalent of the decimal number 10 is
A)1010

C)10

Answer Key : A

B) 010
D) 0010

B)010
D)0010

Your Response : A (Correct)

uestion No. 79

s frr Fomr sy 372
A) SO
C) I

Minati Mishra is associated with-
A)Bharatanatyam

C)Kathakali
Answer Key : D

B) st
D) 8f&f

B)Manipuri
D)Odissi

Your Response : Not Answered

Question No. 80

AF FHA S| FF -
A) @6 R
C ) G

Electric flux has Sl units of-
A)Volt metre

C)Tesla

Answer Key : A

B) $9 Ro
D) 8

B)Coulomb meter
D)Weber
Your Response : D (Wrong)

uestion No. 81

©rer @ AV g w3
A) Rt sfa@ sfFada
C)S™wd Sfelde Fa2F

The dodo was extinct due to-
A)Global environmental change

C)Over-exploitation of resources
Answer Key : B

B) fAmfr senfex armarer
D) T

B)Invasion of non-native species

D)Pollution
Your Response : A (Wrong)

Question No. 82 Top
AMEH AT FT-TREFCIT STSHH S F& OFF T -
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A) IFAEE A6 B) OIS Cbb AMEGT
C) TG AT D) A i@ SIEoa

Oscillators which produce non-sinusoidal waveforms are known as-

A)Harmonic oscillators B)Steady state oscillators
C)Damped oscillators D)Relaxation oscillators
Answer Key : D Your Response : D (Correct)

Question No. 83

CRO (5 fiSRT TF% A 1T SO "FH W By pnsSd I 39w T e afite)
A) % Afes SR B) fBG B
C)a RN SR D) fewms sjst

The technique of adding a precise amount of time between the trigger point and the beginning of the scope
sweep in a CRO is known as

A)Free running sweep B)Triggered sweep
C)Non-sawtooth sweep D)Delayed sweep
Answer Key : D Your Response : Not Answered

Question No. 84
@ SPFEE, G SIS T I FAC A O I IWW I IR A0 IR T IT ORF I =/-
A) TSTHBF TID B) f¥3fa TH
C) BTG FFH D) SHIFFAF T&B

The temperature at which the vibrations of the molecular magnets become so random and out of alignment as
to reduce the magnetic strength to zero is called-

A)Magnetic point B)Curie point
C)Standard point D)Axial point
Answer Key : B Your Response : B (Correct)

Question No. 85
436 SNFART B ____ onba e =)

A) (TGS (11T B) FPIGE o6

c) e @y fifse D) @Rror Rema o7&

A vacuum cleaner employs ______ motor.

A)Shaded pole B)Capacitor start

C)Single phase series D)Resistance split phase
Answer Key : C Your Response : C (Correct)

Question No. 86

26 ST eiba T a3 enba

A) TEF-ATARGS B) f&ofr- .3R®o

C ) fSifer- .FR®S D) MoaR-ITRGE
The switched relucatance motor is a motor.

A)Doubly-excited B)Triply-excited

Top
C)Singly-excited D)Multiply-excited
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Answer Key : C Your Response : Not Answered

Question No. 87

e cfamam feoifes M@t Fiehy AT SIS Y% FETAPT TIFE [, o7 a6 936 __ S @)
A) OIS TR B) “OIF
C)35ETH D) e

When a peripheral device needs immediate attention from the operating system, it generates a(n):

A)Page File B)Stack
C)Interrupt D)Spool
Answer Key : C Your Response : B (Wrong)

Question No. 88
236 FRPE (MFAW) NS EMF ST FAE©, IR M A e @ |
A)FTET FTF @F IO TR B)FIEE (¥ @A NG 7
C)FET T8¢ @R WO =S D) ¥ 5 @V WO AT

To induce maximum EMF in a conductor, the direction of motion of the conductor must be

A)In line with the magnetic lines of flux B)Perpendicular to the magnetic lines of flux
C)Tangential to the magnetic lines of flux D)Parallel to the magnetic lines of flux
Answer Key : B Your Response : B (Correct)

Question No. 89
PN W SIS o Fafae @@t 56 e ©ffer™ (mma e @aft o@ e I T aer aft
TS T G BT @ JN O IS M7
A) GTSIETG @ISO B) STSTT® @FCIS
C) @ @FCTSd D) fSSsia

Which of the following occurs in PN junction diodes when the electric field in the depletion layer increases to
the point where it can break covalent bonds and generate electron hole pairs?

A)Covalent breakdown B)Avalanche breakdown
C)Zener breakdown D)Diffusion
Answer Key : C Your Response : B (Wrong)

Question No. 90
e @™ 2t 2008 NPT 7¥g “critically endangered species® (RIGYA rm FS) T fAfFs e am @
"endangered specles” (W FoIf$) R P =7

A) ST SO B) a7F finz
C) T D) TS AN

Which of the following animals was under category of “critically endangered species” till 2008, later upgraded

to "endangered species"?

A)Sumatran Rhinoceros B)Asiatic Lion

C)Panda D)Indian Tiger

Answer Key : B Your Response : B (Correct)

Question No. 91
236 SEAEIRbE SIBRGE T Fofit -

Top
A) BT F3F (Pressure coil) B) &A1 S (Current coil)
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) sifsHte i@‘_‘:ﬁ (Dynamic coil) D)S¥eol iﬁﬁ)[ (Power coil)

The fixed coil in a dynamometer wattmeter is the-

A)Pressure coil B)Current coil
C)Dynamic coil D)Power coil
Answer Key : B Your Response : B (Correct)

Question No. 92
e @t EeRE WEPRT Fbarmes SaEaT?
A) SITETTLE ( Allethrin ) B) @ (Fenthion)
C)BH®A (Toxaphene) D) SR ( Oxamyl)

Which of the following is an example of chlorinated hydrocarbon insecticide?

A)Allethrin B)Fenthion
C)Toxaphene D)Oxamyl
Answer Key : C Your Response : Not Answered

Question No. 93

FEET FEH A (KCL) T o807 57 A RASA AT I F@
A) ST B) @fF SaA@ES
C ) ®«E T D)w®d

Kirchhoff's Current Law (KCL) is the first law that deals with the conservation of-

A)Charge B)Linear momentum
C)Momentum D)Mass
Answer Key : A Your Response : A (Correct)

Question No. 94
sMPs $loir I FAFS W7

A) 936 TR QF I T RI6d Fa© B)DC T8IF J¥T FA©

c)fvafae AC =8IF FFIAR MF FA© D)fa¥f¥® DC NI TIIAR MF FA©
SMPS is used for-

A)Switch from one source to another B)Storage of DC power

C)Obtaining controlled AC power supply D)Obtaining controlled DC power supply
Answer Key : D Your Response : D (Correct)

Question No. 95
230 V, 50 Hz 936 SRIAR EFHs IAPF RReW BT Fa1 W ORWMAF Ia o0 a7 sfiemie frym
A)v=361.27 sin 314.16 t B)v=325.27 sin 314.16 t
C)v=230.27 sin 315.16 t D)v=163.27 sin 314.16 t

A supply voltage of 230 V, 50 Hz is fed to a residential building. What is the equation for instantaneous value?

A)v=361.27 sin 314.16 t B)v=325.27 sin 314.16 t
C)v=230.27 sin 315.16 t D)v=163.27 sin 314.16 t
Answer Key : B Your Response : B (Correct)

Question No. 96 Top
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BB fPGrS WP TAT FACEA SFT IMBGE AT AT FAT T Cofe cbh FfoTem afiler amftE fafk

F/EdET __ T@)
A) @M B) fasper
C) a2 AT D)

The current drawn by a tungsten filament lamp is measured by an ammeter. The ammeter reading under

steady state condition will be the ammeter reading when the supply is switched on.
A)Greater than B)Double

C)Same as D)Less than

Answer Key : D Your Response : D (Correct)

Question No. 97
93f6 3eF AR _____ I/ Fry afde)

A)3 B)4

C)2 D)5

An email address consists of ______ parts.

A)3 B)4

C)2 D)5

Answer Key : A Your Response : A (Correct)

Question No. 98

ST ST AIE SR e afafte)
A) FNea B) da-82f5F THw
C)@mea D) 83RF T

Components which obey Ohm'’s law are known as-

A)Capacitors B)Non-ohmic components
C)Resistors D)Ohmic components
Answer Key : D Your Response : D (Correct)

Question No. 99
5= enbw Bibww anfiE I i

A) GBS T ST STefel] [ el B) R Biftx 5% fF@rT Fan
C) aARF IS TTm ol D) @A w© F G S

What is the primary function of the starter in a motor?

A)To start the counting of time of motor running B)To develop high starting torque
C)To limit the starting current D)To bring motor quickly to full speed
Answer Key : C Your Response : C (Correct)

Question No. 100
e @ B R TEw?
A) eGP B) fof
C) I g D)Fe i

Which industry flourishes in Nepanagar?
A)Cement Industry B)Sugar Industry

Top
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C)Chemical Industry D)Paper Industry

Answer Key : D Your Response : Not Answered

Question No. 101
AfeT @A RAgw 3 IR (S SFAba O ST ST FAW INT ISR R RGA o ¥ AT
™ R ST TIWE I J-
A) NS &6 SN B) TG B [SHT
C)ZBEAT H6 GG D)®@S H% fSGFa

A final safeguard against electrical shock can be arranged on the power supply side of the circuit rather than
the appliance itself. This safeguard is called-

A)Ground fault detection B)External fault detection
C)internal fault detection D)Phase fault detection
Answer Key : A Your Response : A (Correct)

Question No. 102
T AqfeT affrme @87 T 230 X fnfiffe W aft o fePiRe oW Ao e I
A) SR e B) s faeT
C) RemrEarmr fae D)T®T FNF AT @ (&0

Which of the following relays are operating when the vector difference of two electrical quantities exceeds a

pre-determined value?

A)Sequential relay B)Frequency relay

C)Differential relay D)Both frequency and sequential relay
Answer Key : C Your Response : C (Correct)

Question No. 103
e @mite Roar a1 apforaa S3RR JfANT FER=?

A)FH FIEE TNEd 5o SIS B)FN ©F IT6I
C)IH @Le STPIH D) fgfege fertif Im @

Which of the following are the advantages of distributed armature winding?

A)Suitable for low current density B)Low heat dissipation
C)Low voltage waveform D)Elimination of distorting harmonics
Answer Key : D Your Response : D (Correct)

Question No. 104
B it S SEEfte TITS S AT AR IW @ FPre ST JITe T2
A)FTS B) IS
C)PVC D)3

Which insulation is most widely used for covering wires/cables used in intemal wiring of residential

construction?

A)Wood B)Paper

C)pvC D)Glass

Answer Key : C Your Response : C (Correct)

Question No. 105

T
T 4 930 A O BT o 936 ATEE IWRFTBT B8A) o
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A) OIS 978 FECFE T TomR B)T% & AW I Afe
C)FETTE D) CTIF&I =y

lamps consist of an inner discharge tube and an outer evacuated tube.

A)Both sodium and fluorescent lamps B)High pressure mercury vapour lamp
C)Fluorescent lamp D)Sodium lamp
Answer Key : B Your Response : A (Wrong)

Question No. 106

935 @ I*T NS (mercury vapor lamp) e @3

A) ST B ) (TSI

C)Tm D) NJSTe e

A mercury vapor lamp gives light.

A)White B)Pink

C)Yellow D)Greenish blue

Answer Key : D Your Response : D (Correct)

Question No. 107
2= a3 AffrE TR o, 226 Afshe ITTE ASHTRA AAAET 8 ITIEA ARAEER e i RN S

FAT T
A) fafaafafe  (@fRFer) B) @NEIS
C) e (TEweAlTeT) D) cofAffs (ofig)

The ratio of change in output towards the change in input at a steady state condition for a given measuring
system is referred to as-

A)Linearity B)Threshold
C)Sensitivity D)Stability
Answer Key : C Your Response : D (Wrong)

Question No. 108

AR SSRGS fAeT ____ o%F GTBEA SFSE S B TAIAR FAT
A)TG TG B) Sfefe FIEG
C) e @res D) 80 WG

Thermal overload relay is provided in a starter to protect the motor against-

A)Short circuit B)Excess current
C)Low voltage D)Open circuit
Answer Key : B Your Response : A (Wrong)

Question No. 109
I BB crE FoE S Foft 23 Foer o PRTE W ORCT T8 T ©TES ¢ R GITEEA IS

— 3 «fEafde =
A)PE w=%F B) fofEReMa wned
C)@%w ®%F D) fEfBReTa 8 @w weT ToF

is defined as the ratio of the actual voltage obtained to the possible voltage, if all the coils of a polﬂ;p
group were concentrated in a single slot.
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A)Pitch factor B)Distribution factor
C)Breadth factor D)Both distribution and breadth factor
Answer Key : D Your Response : D (Correct)

Question No. 110
936 FrIfitEs TP ¥ (I TN%) TRE FF T F91 @ A
A) (TG GE B) Fifa: fae
C) ST TG D) FE f&a

The dissipation factor of a capacitor can be measured by using-

A)Potentiometer B)Schering bridge
C)Galvanometer D)Campbell bridge
Answer Key : B Your Response : D (Wrong)

Question No. 111
@M SCR-I7 AfAcF™ (TS 77
A) e 3 oo B) TERATE afF: G
C)TERTE FACRG: GG D) ffert FACFH: @IS

Which is NOT an operating mode of SCR?

A)Reverse blocking mode B)Forward blocking mode
C)Forward conducting mode D)Reverse conducting mode
Answer Key : D Your Response : B (Wrong)

Question No. 112
EA SAFR-7 R @b WRGIPA I, FwPRE @@ SFrET afemer s T 31 SRe?
A) OCB B)ACB
Cc)vCcB D)MCB

For household wiring and small units, which of the following should be used for safety measure?

A)OCB B)ACB
C)VCB D)MCB
Answer Key : D Your Response : D (Correct)

Question No. 113
TIRPIRrE STIw @3rnE __ fnfErr o amss|
A) T8I B) BTG
C)@es 93 FIED D) IEG

Superposition theorem is only applicable for determining only.

A)Power B)Voltage
C)Voltage and current D)Current
Answer Key : C Your Response : D (Wrong)

Question No. 114

N GEmneeiee T o030 @y W Odireaew o vl s SR A s AR
FA|

A) ATSTABIRE ST B) MISTAGF SR

C ) SIvIfeeTeE D ) TSI G IR

Top
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is a property of ferromagnetic materials that causes them to change their shape or dimensions
during the process of magnetization.

A)Magnetostriction B)Magnetic anisotropy
C)Anisotropy D)Magnetization
Answer Key : A Your Response : A (Correct)

Question No. 115

DC GELER FRIOHER B o @
A) SHEHEF B) @®mIE
C)EmS D) MG

The commutator of a DC generator acts as .

A)An amplifier B)A rectifier
C)A load D)A multiplier
Answer Key : B Your Response : B (Correct)

Question No. 116
fmfife EHb IR ©TbEa 3% Afvaw @R STE SR TeAET [y jRu?
A) TRFTT TREF wFel Ia I B) Fo1ed 3T 4@
C)TRE @6s 9 Jfw Fa1 I D) R@ @6s o Jfa

Which of the following is the main advantage of transmitting power over transmission lines on high voltage?

A)Efficiency of transmission line is increased B)Increase in conductor cost
C)Voltage drop in line is increased D)Voltage loss in line is increased
Answer Key : A Your Response : A (Correct)

Question No. 117
PR @ TAT I WS e
A) a6 TR Sege SRome FE [ SRAm oo B) T4 Tx=etol fite aff o3 6 Bifs sy @
c)Fmftre feaft B a@m 3@ A6 @W3 JH [T D) @3 IIF Fo J8 fI6E Fa1 IF T

Which of the following are the advantages of mercury vapour lamp?

A)lt produces light similar to day light which may help B)It take about 6 minutes to give full brightness
in increasing the production

C)lt cannot be used in any standard lamp holder as D)The original colour of an object cannot be judged
there are three pins in the cap

Answer Key : A Your Response : A (Correct)

Question No. 118
fmfiite @@ Ry AT’k w9 =37
A) T TASNT TSI B) FISABT STeI¥ Swi
C)F G SO TWA D) CIffTE S8 Sme

Which of the following is NOT a world heritage site?
A)Manas Wildlife Sanctuary B)Kaziranga National Park Top
C)Nanda Devi National Park D)Periyar National Park
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Answer Key : D Your Response : D (Correct)

Question No. 119
OHS I I APFET ORICT ST FAfET?
A) 1974 B) 1972
C) 1920 D) 1928

When did India first take part in the Olympic Games?

A)1974 B)1972
C)1920 D)1928
Answer Key : C Your Response : Not Answered

Question No. 120
fmPiRe @n RS SiArey ofSepadly @ TEA (electromagnetic Induction) (¥TT S@3?
A faEE T o FE IRREET FEE IFE FAe B)fAed N I FH ARIOER FRE IFE  FAf6e

EMF-@& MMF Je 2% EMF-@ @S F13 3 =
O)ffEed T IF FH AFTOER FRE FPE FAfGe D) AFIRI FF 9 EFF @3 I A FA®  emf
EMF-@& CIRAIF 66N G EMF Je ¥F ARIGAE HeF AGTS EMF I =

Which of the following statements are true with Faraday’s laws of electromagnetic induction?

A)The EMF induced in a coil due to change of flux B)The EMF induced in a coil due to change of flux
linked with it is called MMF linked with it is called leakage flux

C)The EMF induced in a coil due to change of flux D)The conductor is stationary and the magnetic field is
linked with it is called dynamic induced EMF moving or changing then the EMF will be induced

and it is called static induced EMF

Answer Key : D Your Response : D (Correct)

Question No. 121
CRACIFET W ____ A% SHIpIfed
A) [FT%]° B) F™IIF’
C)FE D) F %

Dielectric loss is proportional to .

A)[Frequency]'? B)Frequency?
C)Frequency® D)Frequency
Answer Key : D Your Response : B (Wrong)

Question No. 122
FHPRe @R SeEE AFBERAPIPA SWE?
A) afFET BRART B) SO
C) g3l D) fEfemT

Which of the following is an example of popular antivirus?

A)Encrypted virus B)Sasser
C)Worms D)Bitdefender
Answer Key : D Your Response : D (Correct)

Question No. 123
Top

“SEW @M” 336 -
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A) IFFSE TS B) GTTFGAER M 16
C) FISET AT 5T D) 8™ IF |

“Ozone Hole" is a -

A)Hole in the atmosphere B)Hole in the troposphere

C)Hole in the D)Destruction of ozone layer
hydrosphere

Answer Key : D Your Response : D (Correct)

Question No. 124
fmPis @m Iwswne, o SRR T IF WI?
A) fEFERST Fesia B) STA F1%
C)FEG FTmeld D) CGARAE Fslia

In which of the following transformers, is the secondary winding always kept closed?

A)Distribution transformer B)Power transformer
C)Current transformer D)Potential transformer
Answer Key : C Your Response : A (Wrong)

Question No. 125

Gmail 4, SR 3T WMESSG @& FOR FAT I

A) Subject B) To

C) Message D) From

In Gmail, the email address of the recipients can be entered in field.
A)Subject B)To

C)Message D)From

Answer Key : B Your Response : B (Correct)

uestion No. 126

AT WIFC T ST IRTIT I IN A e IR B
A)AgsN B) Ag,S
C)Ag,0 D) Ag,SO,

Silver article become black on prolonged exposure to air. This is due to formation of-

A)AgsN B)Ag2S
C)Ag20 D)Ag2SO3
Answer Key : B Your Response : B (Correct)

Question No. 127
@FANF SRR N & IE IW PO BN -
A) SIS B) *THTG
C)@H HG D) ¥eTHTH

The important pass that links Kerala with Tamil Nadu is-
A)Aramboli B)Palghat
C)Bhor Ghat D)Thalghat

Answer Key : B Your Response : Not Answered

Top
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Question No. 128
fmfiYs @@ SFRar JEREEE RLC TR¥GA W[HAEY o?
A) FTEG FCT STV B) SR MFGA SHGHGH Joves
C) MST HNBH T D) SRR MFEGA T NHET

Which of the following is NOT the property of a parallel resonant RLC circuit?

A)Current is minimum B)Admittance of the circuit at resonance is minimum
C)Power factor is zero D)Impedance of the circuit at resonance is maximum
Answer Key : C Your Response : C (Correct)

Question No. 129
TR TP Te ™ ASHP @ S RS st
A)NAND gate B)OR GI6
C)AND 66 D)EX-OR (16

The output is high if either of the input is high. The above statement repesents

A)NAND gate B)OR gate
C)AND gate D)EX-OR gate
Answer Key : D Your Response : C (Wrong)

Question No. 130

PAN T&f6 @R_NS-
A) CTRERMNT TRELT B) CIRARMNT FRETE
C) CTRARMNT IREITF D) (EAERMNT TRERG

The term PAN in chemical refers to-

A)Peroxyacyl nitrate B)Peroxyacyl nitrogen
C)Peroxyacyl nitrolic D)Peroxyacyl nitrite
Answer Key : A Your Response : A (Correct)

Question No. 131

ey o I-Jaedizames 1 R e Fg
A) ST @1 B) Iy *fe
C) I D)®am Mfe

Identify the non-renewable source of energy from the following.

A)Fuel cells B)Wind power
C)Coal D)Wave power
Answer Key : C Your Response : C (Correct)

Question No. 132
FAGR0 A RN AR AW AfR-a7 Brww
A) 8T Toqe FAT B) s Tfox fAgm oY SAMET AW
C)FTGI6 97 @gfed IFMMe@ QReFeNT TETe FT D) FAGE INMFPSNF FSJe FT

The main idea of running earth wire along the conduit run is to

A)Make wiring strong B)Save the earth wire against mechanical damage Top
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C)Make the conduit and metal accessories D)Make the conduit mechanically strong
electrically continuous

Answer Key : C Your Response : C (Correct)

Question No. 133

NefFrT 93t RFERT I TIea F@-
A) TfET e @@ o e B) sfefe @@ errfe
c)rer Tfe A @yfes Afe D) yfes *ife @ e e

Themmocouple is a device which converts-

A)Mechanical energy to heat energy B)Kinetic energy to heat energy
C)Heat energy to electric energy D)Electric energy to heat energy
Answer Key : C Your Response : D (Wrong)

Question No. 134
fmfif¥® @@ M AC 9= DC SoEA Ty FIIA FAT @© ARA?
A) BT BIR B) SIATeTST B1RST
C)3fe: IS BRT D)PMMC BRRH

Which of the following instruments can be used both for AC and DC?

A)Induction type B)Analog type
C)Moving-iron type D)PMMC type
Answer Key : C Your Response : C (Correct)

Question No. 135
e @@ T T 2w @ "M Jebere AT T IR W, S ot e W, SAEwe

A FaT TE?"
A)IEE%W% B)IEE@WW
C)IEE §9 39 80 D)IEE §T a¥9 46

Which of the following rule number states that "every installation shall be periodically inspected and checked
at intervals not exceeding five years either by inspector or by the supplier"?

A)IEE rule no. 29 B)IEE rule no. 87
C)IEE rule no. 80 D)IEE rule no. 46
Answer Key : D Your Response : Not Answered

Question No. 136
a7 B-H IFCAI® 930 5 e T3 I S Wy A |

A)RES 55 B) ffeide f5Bet

C)Iy D) %6 SIS

The B-H curve for will be a straight line passing through the origin.
A)Hardened steel B)Silicon steel

C)Air D)Soft iron

Answer Key : C Your Response : B (Wrong)

Question No. 137
mmwmmmaﬁtw%{smwﬁmwwmmmmmﬁﬁﬁ@gp
AT MFET T T AR I TFNFS?
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A) oS B) SIRGNEToA
C) G @I D) W¥e @F=F

Which of the following are mechanical devices designed to close or open contact members, thus closing or
opening an elecfrical circuit under normal or abnormal conditions?

A)Fuses B)lIsolators
C)Lightning arresters D)Circuit breakers
Answer Key : D Your Response : D (Correct)

Question No. 138
I @8 DC 16 GTEA f5s SARR-97 FFTH 6T 31 =, ©@ OG-
A) GToER st FE B) 5 &
C)aF2 iE v D) fte i@ @

If the connection of a field winding of a DC shunt motor is changed, then the motor-

A)Speed of the motor will reduce B)Will not run
C)Will run in the same direction D)Will run in the opposite direction
Answer Key : D Your Response : Not Answered

Question No. 139

MOSFET 436 BT TR FA @© T

A) @TTES FAETE ITTF6 B) FMED FAEFG 2TIF6A
C)®IE FAEITS FAMNoH D) FET FAGETS FAMNGH
MOSFET can be used as a-

A)Voltage controlled inductor B)Current controlled inductor
C)Voltage controlled capacitor D)Current controlled capacitor
Answer Key : C Your Response : C (Correct)

uestion No. 140

236 IS THREC FEEFT (b TISTA BRI I IE

A) aF B)

C) ferfds D) IR

An under excited synchronous motor operates at power factor.

A)Unity B)Zero

C)Leading D)Lagging

Answer Key : D Your Response : D (Correct)

Question No. 141

I 936 IFEAELER MG Al IPOACOEHT THGART I3 3@, 9% AR @ L/ 7@
A)SSEIC FEH 2 T B) TSI e @M fifd: =1
C)INTHIG kW IN D) MR Hed @M1 TR 27

If the excitation of an alternator operating in parallel with another alternator is increased above the normal
value of excitation, its

A)Output current decreases B)Power factor becomes more leading Top
C)Output kW decreases D)Power factor becomes more lagging
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Answer Key : D Your Response : C (Wrong)

Question No. 142
50 FenfiE iy oraA fres afswrmEa afemr 1 MQ Q) 100 Renfitw B o 3 o6 ____ =@
A)0.5 MQ B)2 MQ
c)1.6 mQ D)2.5 MQ

The leakage resistance of a 50 km long cable is 1 MQ. For a 100 km long cable, it will be .

A)0.5 MQ B)2 MQ
C)1.6 MQ D)2.5 MQ
Answer Key : A Your Response : A (Correct)

Question No. 143
235 FoT DR 930 FEACEE IITIG| ICAEEAD TN IFE-
A) TfET e A @gfes e B)AC @@ DC
C)@gfes e aw TfEs e D)DC @& AC

The steam turbine is coupled to an alternator. The alternator converts-

A)Mechanical energy to electrical energy B)AC to DC
C)Electrical energy to mechanical energy D)DC to AC
Answer Key : A Your Response : A (Correct)

Question No. 144

S RibeT T9%e JMBArECPT @R PBe w7
A) o B) F1ET
c) Mfza-2=me D) ZNHE @13

The cores of electromagnets used in energy meter are made up of-

A)Silver B)Carbon
C)Silicon-steel D)Phosphor bronze
Answer Key : C Your Response : C (Correct)

uestion No. 145

W BHST DRV WHR SR IS SR IR IR IAT T

A) ST Fxer B) IHT a3 9o J¥el

C) sfsfmare Ferer D) IS Hel

Synchronous condenser is used to produce without producing real power.
A)Active power B)Active and apparent power
C)Reactive power D)Apparent power

Answer Key : C Your Response : C (Correct)

Question No. 146
6 ffereE 3R S sve -

A) I FHI, TFF FFI, TS G6 FAT B) 2N FAI, AN ¥ FAL, TAEF FIE FAI
C)ZM 341, 938 AW, AT A FAI D)ZM Fd1, AT TFIAF FAI, TANIAEST FAT
The 3 R principle in waste management involves- Top

A)Reduce, Reform, Reset B)Reduce, Regain, Reuse
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C)Reduce, Retain, Regain D)Reduce, Reuse, Recycle

Answer Key : D Your Response : D (Correct)

Question No. 147

ANAGRST IPrST 301 A sfisw ooy aifdge @
A) REHA B) fISES
C) @M D) "NENIS fASFIT

Rutherford's alpha particle scattering experiment was responsible for the discovery of-

A)Electron B)Neutron
C)Proton D)Atomic nucleus
Answer Key : D Your Response : D (Correct)

Question No. 148
P9 TTOHE WA TRW I 2 kW AR SR Wefvd ST I W 24 I0fB| o © Hed

1G] I
A) 40% B)50%
C)20% D) 80%

The maximum demand of a consumer is 2 kW and his daily energy consumption is 24 units. His load factor is

A)40% B)50%

C)20% D)80%
Answer Key : B Your Response : B (Correct)

Question No. 149
E T afSame ax afefrmfnr 1Rea ©Ba AT IR @Fe-FEIS AffrT FaT =
A) fI@e =reaTT B)§ eI
C)IMTNET T3 D) @BIFee =M3IF

power is the vector sum of resistive and reactive power and is measured in volt-amps.

A)Real power B)True power
C)Apparent power D)Resistive power
Answer Key : C Your Response : C (Correct)

Question No. 150

SR e BRY @B TR 97 213 JESHACE O 3976
A)TE ofe B) NRNfH i
c)fere sife D) FIECEA a9l

Cylindrical pole type rotors are generally used with prime movers of-

A)High speed B)Medium speed
C)Low speed D)Double the current
Answer Key : A Your Response : A (Correct)

Top
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